H £ 0l & AF & S

Al A

SN =NEY
ma: =7)|g 1
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 3,877,243 3,772,9%4 104,289
= 824,000
[ 339,445
Al 1,420,070
- 1,111,334
= 182,3%4
sXolet 2= 3,166,685 3,172,043 /5,358
= 824,000
s 307,009
Al 1,039,062
- 901,524
= 95,100
FHOHNE 42 A 3,075,885 3,081,243 N\5,358
= 824,000
s 244,849
Al 1,025,732
- 886,204
= 95,100
AlSXEe gdat 4,100 4,100
201 Let=Ehl 1,600 1,600
01 AtR2t2|HI 1,600 1,600
O=AAY g2= 400,000 x22| 800
O=X2 g R3A 2ZH S MH
80,0002 *10H 800
203 HR=H] 2,500 2,500
03 A=A R =AH] 2,500 2,500
O=XEH A=A 2,500,000& 2,500
NeiAtzl2 oM edat 89,920 93,340 23,420
Al 22,000
- 22,000
= 45,920
201 er23| 23,400 23,200 200
= 23,400
01 AtR2te|Hl 23,400 23,200 200
OXGAeIE2E HEE2AM AR =&
100,000 *17 H#43] 6.800
= 6,800
OXIGAI2E &4REAM A =&
100,000 12 »42] 4,800
= 4,800
OXSAMSIEHEOAM d&FAs W=
500,000 <22 1,000
= 1,000




SA SRR
ma: =7)|g 1
SRl s dg XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O= NGAI2ZE AN 23|
1,000,000 *97H 2 9,000
= 9,000
ORIGASIHEHE SIXHE Al 2l
18,0003 *50 & »238] 1,800
= 1,800
307 elztol & 66,520 70,140 A3,620
Al 22,000
T 22,000
= 22,520
02 QB HANEER 12,000 16,000 24,000
OXSGAZI S 2AM SSHAIGHI(EX)
8,000,000 8,000
Al 4,000
T 4,000
OXIAAEIBEB M SBAIHI(XHH)
4,000,000 4,000
= 4,000
03 I HEE2SHIEx 54,520 54,140 380
OXIGAMSEEEOM dgels QIAHI(EX
) 3,000,000& *12& 36,000
Al 18,000
- 18,000
OXSGAZI S oAM Meeled lAH|(FIt
THIRE) 960,000 * 122 11,520
= 11,520
OXGASI2HE oM e WKL
1,000,000 1,000
= 1,000
OXYARIEEE M AFR=2 22|
500,000& * 122 6,000
= 6,000
7 SN2 39,840 38,790 1,050
201 fet= 3| 24,490 24,490 0
03 #AL2 | 24,490 24,490 0
0S8, 2&I S YRt 2,000, 0002 2,000
OFAIEE L HERA 2]
6,000,000 6,000
O#ANE (S22, M) £X
9,600,000& 9,600
OEAMES 600,000 600
OS2 - HNERA =0 M
5,040,000 5,040
O8=EcIEH, ZAH M
1,250,000& 1,250
301 LEetE N = 8,350 7,300 1,050




SN =NEY
ma: =7)|g 1
SRl s dg XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 8,350 7,300 1,050
O 24 4,500,000 4,500
OgAr=g Sl 3,850
oA 2,800,000& 2,800
o2t 1,050,000 1,050
401 Al HIZL 201 7,000 7,000
04 A2 S AIEH] 7,000 7,000
OR W&l 2,000,000& 2,000
OLED &4 (3002! X ) & X 5,000,000& 5,000
AR SX2 2 849,002 849,092 0
Al 714,794
- 110,298
= 24,000
307 el2tol & 849,092 849,092 0
Al 714,794
- 110,298
= 24,000
05 2ItRIE = 849,092 849,092 0
OAtel =X 29 825,092,000& 825,092
Al 714,794
- 110,298
OBIZHALRISXIAL MRS
100,000 «20E * 122 24,000
= 24,000
AMEI=SXIAE X 4,000 3,500 500
201 er2 3| 3,000 2,500 500
01 AtR2te|HI 3,000 2,500 500
OAtz|=X2 ZIIEEE =2
3,000,000& 3,000
401 Al HIZL S 0HYI 1,000 1,000
01 Al&HI 1,000 1,000
OAte|= X2 Ald2c] 1,000,000 1,000
OldMY & Akt 15 1,600 1,600
201 Zet=E] 600 600
2 s5=34l 600 600
ONelis =t SSHEAIAY SHHE)|
SHR=s 50,0002 122 600
307 @I2t01 & 1,000 1,000
012z € 2/=H] 1,000 1,000
OO0IMe! 2Ie+3Hl 1,000,000& 1,000
ANZERHE K3 (HEAY) 407,572 337,433 70,139
301 EtE NS 407,572 337,433 70,139
0 AR=R22as 407,572 337,433 70,139




SN =NEY
Hu: =108 1%
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAt2I=2HE XIE 407,572
cdEYS 1,000,000& 31 +12& 372,000
o=LH0YI 3,400 31+ x 12 27,826
oll=H| 309, 8403 x25H 7,746
AR SXNEREX 48,048 16,632 31,416
301 EtEE S 48,048 16,632 31,416
0 AR=SR22a= 48,048 16,632 31,416
OAZI=R23 SAHI(AEISXR)
7,000« 022U x 12 16,632
OAZI=22% SAHI(MRISIIAIE)
7,000 x17H*22 x 122 31,416
FLOI 2E XNE 70,743 52,400 18,343
Al 40,000
- 17,143
= 13,600
307 @120l & 70,743 52,400 18,343
Al 40,000
- 17,143
= 13,600
10 Al SXAAEEHE 22X 70,743 52,400 18,343
OF=0t 28 57,143,000& 57,143
Al 40,000
- 17,143
OFEDRl gRz(B8UE) X
300,000 * 122 3,600
= 3,600
OFEDBU2EHI(AIEHH) NI
10,000,000 10,000
= 10,000
JI=REWT 29 6,000 6,000 0
Al 3,000
- 3,000
307 212+01& 6,000 6,000 0
Al 3,000
- 3,000
10 AlRISTIAIEEE 22X 6,000 6,000 0
OJl=zEw3 24 6,000,000& 6,000
Al 3,000
- 3,000
-8 SSAE R 2l 6,820 56,820 50,000
201 er=23y| 6,820 6,820 0
02 S3=gHl 6,820 6.820 0
O7E SEAE FA 2 6,820




SN =NEY
e
chel: FoOiE ME N (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oIt 2| r+=
150,000& * 12 1,800
oAZIOIN BRI YA AT
130,000& 122 1,560
o) HPEx2 170,000« 12& 2,040
osdl| IEBE=+& 220,000 220
o RQIAHIAA 100,000 122 1,200
AHIA A 243 X3 7,600 6,530 1,070
201 er=23y| 3,700 2,630 1,070
01 AtR2t2|HI 3,700 2,630 1,070
O=E3(B)"Y & M
20,0002 *20H 400
Os|U=RXNZE HEES MA S
7,500 4005 3,000
OXMFZeot- B3 Jy|2e 2258
100,000 *3AlI CH 300
301 2N = 3,900 3,900
02 NBI2HHSFS(HAAS, XNLHE) 3,000 3,000
ONFZEIF =HEEMNA
1,000,000 =3I CH 3,000
14 JIEt2d= 900 900 0
OMEZEIt7 NHASAAF JIEt2 4
20,0002 x 153 =3 A CH 900
ANZ2T SEAtdZel X 15,000 15,000 0
[ 7,500
Al 3,750
T 3,750
201 er23| 7,500 7,500 0
= 3,750
Al 1,875
- 1,875
01 AtR2telbl 7,500 7,500 0
OAtell2e] 2el+g S JIet2 3
7,500,000& 7,500
= 3,750
Al 1,875
- 1,875
301 EtE NS 7,500 7,500 0
= 3,750
Al 1,875
- 1,875
01 Al 2E A S(SREEME) 7,500 7,500 0
OAtdIZrel AbHI 7,500,000 7,500
= 3,750
Al 1,875




SA SRR
Z: =x0|e 7S
SRl FHAAHS ME X2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 1,875
SE A2l 24st X2 560 560 0
201 et 3| 560 560
01 Al 22IH| 560 560
OAIZRIANY 27 23]
8,000& x2&»35& 560
==X 1,010,000 925,912 84,088
= 808,000
Al 101,000
- 101,000
301 2eEN=S 1,010,000 925,912 84,088
= 808,000
Al 101,000
- 101,000
01 Al EE AL S(FRDEXHA) 1,010,000 925,912 84,088
OUS=XAIS 1,010,000,000& 1,010,000
= 808,000
Al 101,000
- 101,000
2=2=X 29 1,200 1,200
201 2= 1,200 1,200
01 At22t2l] 1,200 1,200
OS2 =g
100,000 6 & =22 1,200
KA MEIA SXANS (KISLIHEE) 280,505 335,230 NDBA, 725
= 196,353
Al 42,076
- 42,076
308 XXM SOIA 280,506 335,230 ADBA, 725
s 196,353
Al 42,076
- 42,076
13 SI[2SOHe & EAS A 280,505 335,230 ABA, 725
OXISIHLSHBIR ALY 280,505,000 280,505
= 196,353
Al 42,076
- 42,076
KA MHIA SERANE 2E(XI-) 1,500 1,500 0
[ 1,050
Al 225
- 225
201 fet= 3| 1,500 1,500 0
[ 1,050




2A:

X XH -
o=

ot
S 2=
Al

Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 225
T 225
01 Al22t2lH] 1,500 1,500 0
ONYNLE Hi2H 22|
1,500,000 1,500
= 1,050
Al 225
- 225
IAHE S 2R 0IAHY 48,312 19,633 28,679
= 33,818
Al 7,247
- 7,247
308 XXM SOIA 48,312 19,633 28,679
s 33,818
Al 7,247
- 7,247
13 SI[2S0He & A AS A 48,312 19,633 28,679
OJtARME SEE=2L0IAHE
48,312,000 48,312
s 33,818
Al 7,247
- 7,247
U SE=ESAYE 2Y 100,000 100,000 0
Al 50,000
T 50,000
201 er23 | 6,000 6,000 0
Al 3,000
- 3,000
01 At2teltl 6,000 6,000 0
OSe==AMe 2= N&H S
6,000,000 6,000
Al 3,000
- 3,000
301 22N = 26,000 26,000 0
Al 13,000
T 13,000
02 MBI 2HHSFHS(HAANS, XLHE) 26,000 26,000 0
OF =4 SE==At
26,000,000& 26,000
Al 13,000
- 13,000
307 @120l & 68,000 68,000 0
Al 34,000
- 34,000




SH: =X
e
chel: FoOiE ME N (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 68,000 68,000 0
OO0 =8 Se=s At
68,000,000& 68,000
Al 34,000
- 34,000
SEAtHI 2t AL 2124H] X~ 5,860 9,093 A3,233
[ 1,440
Al 720
- 720
= 2,980
201 er23 | 100 100 0
= 100
01 At 2|l 100 100 0
OZ2E(SBADEIAN 0123l I
50,0002 x2& 100
= 100
202 04| 5,760 2,640 3,120
[ 1,440
Al 720
- 720
= 2,880
01 SLHoIH 5,760 2,640 3,120
OB R (SEAtAIZEIA) SH0
120,000 x 12 x2H 2,880
= 1,440
Al 720
- 720
OZ2RE(SE At Z2|AL) SZ0H FHIR
g2 12000024128 2% 2,880
= 2,880
St 2l XXI& 30,315 55,578 N25,263
Al 30,315
301 Eet2 NS 30,315 55,578 N25,263
Al 30,315
02 ALRI2E A6 (FHAAHS, NSWE) 30,315 55,578 N25,263
ORuE 2g8=XXE 30,315,000& 30,315
Al 30,315
FE0SHZANZ A 6,698 8,600 1,902
= 4,688
Al 1,005
- 1,005
308 XXM SOIA 6,698 8,600 21,902
= 4,688
Al 1,005




SN =NEY
e
ol FOHE ME X (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,005
18 SIS B S A A AEY 6,698 8,600 21,902
OFEISAL AL 6,698,000 6,698
[ 4,688
Al 1,005
- 1,005
USAE O & 2AIHA 2= 40,600 40,600 0
= 16,000
Al 9,600
- 6.400
= 8,600
201 223 1,000 1,000 0
= 500
Al 300
- 200
01 AtR2te|HI 1,000 1,000 0
O=RZN& S =48l 1,000,000& 1,000
= 500
Al 300
- 200
301 LEtE NS 25,200 21,600 3,600
= 8,300
Al 4,980
- 3,320
= 8,600
01 A2 HSHS(RNEERTHE 25,200 21,600 3,600
OHGHNE 22MBIATI2
16,600,000 16,600
= 8,300
Al 4,980
- 3,320
OFSHES SSEMBILXE
8,600,000& 8,600
= 8,600
307 glztol & 14,400 18,000 A3,600
= 7,200
Al 4,320
- 2,880
11 AMEISXAEEES 14,400 18,000 A3,600
OAlgH=EsE=22 Nd & 23|
14,400,000 14,400
= 7,200
Al 4,320
- 2,880




2A:

SINESES N}

ma: =7)|g 1
el SEDIsEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
s=2XJ|IsHst 90,800 90,800 0
= 62,160
Al 13,320
- 15,320
SHS ¥5d SEAMHA XH 88,800 88,800 0
= 62,160
Al 13,320
- 13,320
201 et 3| 53,800 53,800 0
[ 37,660
Al 8,070
- 8,070
01 AtR2t2|HI 53,800 53,800 0
Os Z0ble EASXABIA A
53,800,000 53,800
[ 37,660
Al 8,070
- 8,070
301 EtE NS 35,000 35,000 0
[ 24,500
Al 5,250
- 5,250
01 Al EE A S (2 REEMR) 35,000 35,000 0
OS Atcll2eltiaot+ X2
35,000,000 35,000
[ 24,500
Al 5,250
- 5,250
NS Atel QIMotME 25t 2,000 2,000
201 fer=2 3| 2,000 2,000
01 AtR2tc|HI 2,000 2,000
OARZRI &= S2=MH
1,000,000 1,000
OQIMoIMY AYH WS
500,000 500
OFQIL A SHEHE
25,0002 x20H 500
=t=3SA SXSH 577,370 470,570 106,800
Al 364,800
- 140,570
= 72,000
2g2e & XE 577,370 470,570 106,800
Al 364,800
- 140,570
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2A:

M DIRBT HASA
&t 2= # XA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 24,020 24,020
2 52484l 24,020 24,020
o= 1,133,000& «12& 13,59%
Oo&ygta |l ===
99,0002 * 122 1,188
Odot=g 150,000« 12& 1,800
O=sas83EAH| 320,000& =22 640
OREHIAIAH 198,000& ~ 12 2,376
Oetd 2| At WshI 60,0002 60
OsZIIEINIZA 220,000 220
OsI8E+==2 220,000& * 122 2,640
O&stEEHAH| 300,000 300
Oagiotd |2
100,000& * 122 1,200
401 AlZHIZ SO 3,000 3,000
01 AlZ28| 3,000 3,000
2232 Ald=E =X 3,000,000& 3,000
HY2EIHI(SXFEAD) 133,188 130,341 2,847
= 32,436
Al 16,218
T 69,240
= 15,294
el 2E | 93,432 82,097 11,335
[ 32,436
Al 16,218
- 29,484
= 15,294
S At Z2IAL 2123 80,167 67,678 12,489
s 32,436
Al 16,218
- 16,219
= 16,294
101 @12A4H| 65,091 55,263 9,828
[ 27,326
Al 13,664
T 13,664
= 10,437
03 SR (RIH )22 U2+ 65,001 55,263 9,828
OSSAtIZEIAL 2124H|
2,124,750« 128 +2& 50,994
= 25,498
Al 12,748
- 12,748




2A: SXEA
. HY2IZU(SXEF
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OQl2dl RHIRE=
281,450 x 128 +x2H 6,755
= 6,755
OAIZtel=E 152,490 * 128 x2H 3,660
iy 1,828
Al 916
- 916
OAZI2I=E JHIRES
46,4703« 123 +2Y 1,116
= 1,116
O&8uman3 1,221,7403+1,343,910& 2,566
= 2,566
M HAFRE3SS 15,076 12,415 2,661
= 5,110
Al 2,554
- 2,555
= 4,857
M BSRH(PINHS)2ZX B828€=2 S 15,076 12,415 2,661
OFEs8E=3 10,218,240 10,219
= 5,110
Al 2,554
- 2,555
ORdz!RYZa FHIRES
4,856,760 4,857
= 4,857
SEAt22IAL IR (MM L) 13,265 14,419 A1,154
101 21| 13,265 14,419 A1,14
03 BRA(RIHL) 22X 13,265 11,956 1,309
OFAZ A 140,000 *12& »2H 3,360
OZE St 1,924,960 +2H 3,850
OHxRaFI==Y 1,827,403 »2H 3,655
oxsx4Y 80,000& x12&+120,000& x 12& 2,400
JlE23a| 39,756 48,244 A\8,488
2AII23| 39,756 48,244 A\8,488
201 LB-2AY| 6,804 6,804 0
01 AtR2elt] 6,804 6,804 0
ORNZ2Z JIE2EH| 279,000 =12 3,348
OJl=2gR=d gl
8,000 3412« 12& 3,456
202 0441 29,952 37,440 AT,488
01 =2LHO4 ] 29,952 37,440 AT,488
OJl2g+d ol
260,000 * 12 122 «80% 29,952
203 PRF=&IY| 3,000 3,000 0

_13_




2A:
T ZH -
D

el

SINESES N}

HE S AH| (SN ZUD

SoT oo

J|I=2&

H

SN - FH.

=
o

AA(BH) - MRA

- ByS

Ofl &F2H

MEE
Ofl &k2h

VEREETE

- o
ORNER 2

=
—

&l

(i}

!

250,000 123

3,000
3,000

3,000
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